IM=P=X

P R O D UTC T S

F 1T N E § §

MARCY PRO
Compact Gym
PM-4400

IMPORTANT: Please read the Important Assembly Information
in the Owner’s manual before assembling this product.

Assembly Manual

111201




IIIIIIIIII







A AN AN A A A

vvvvvvv

A A A A

AAAAAAAAAA

NAAIAAAAANAY

] 1

‘‘‘‘‘‘‘‘‘

NAAAAIAANANAINAY

f

D)

mm

0 10 20 30 40 S0 &0 70 80 S0 100 110 120 130 140 150 160

I1]|III|IIIII|I

’Iil[l|l|l|I]I|I‘llIII!I|l|I1l|l‘Illllllllllllll.lllll|I|I|||I|I‘I]I1I|I|IEI||II‘I|I|I|I|
0 1” 2f 3’ 4" S’ 6”

©IMPEX INC.




AAAAAAAAAAA

&
i
®
m @ 10 © @
& O &

0 10 20 30 40 S0 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

0 1 2 3 4" 5* 6° 7* 8’

©IMPEX INC.



®@E®®

©IMPEX INC.



©IMPEX INC.



2X@37X10 %
2X@8"X10 &~

M1
M1
M1
M1
%}

—_— — N Ny

_@©©

OGO ™

©IMPEX INC.



©IMPEX INC.



M12X2 27
M12

M12X4”
g]-!f

1
2
2
4
8

& D@©

®ee 66

©IMPEX INC.



® 66 e

10

©IMPEX INC.



M12X23"X8 1”

DISINSEIE]SE)

11

©IMPEX INC.



M12X6 &~
M12X6”

M12
g]_”

1
1
1
2
1

OR@E© O

12

©IMPEX INC.



®@®

M10X2 &~

1

13

©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
info@impex-fitness.com

©IMPEX INC.

14



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important  Assembly Information in the Owner’s manual before assembling this product.

